20

H15=26 1280 H16=31 1553 H17 71 2,950
H18=60 2305 H19=66 3064 H20=60 3,025
H15=172  H16=247  H17=245  H18=280
H19=385  H20=456
345,960,000 200,000,000 57.8% 12,000,000  (3.5%)
8,000,000  (2.3%)
20
H17 H18 H19 H20
1 1 1 1
| 0 0 0 0
21 21 21 22
| 8 8 8 8
2 2 2 2
| 0 0 0 0
0 0 0 0
3 3 3 3
21 21 21 22
0 0 0 0
62 | 4,441 52 3,132
20 19
A) 25,444 (24,443) 738  (6276)
(B) 22,789 (20,802) 4126 (1,229)
(A)-(B) 2,655 (3,641) 3260  (5047)
2,655 (3,641) 0 0)
72.9 (56.8) 997  (99.7) 0 0)
1117 (1175) 2000  (3315) 3954 (3887
214 (26.1) 1001 (99.9) 0 0)
271 (43.2) 999  (99.7) 0 0)
41 ( 118) 0.0 (0.0) 0 0)
306 (27.4)
( 4871  (5435)

16 17
17
18
18
H16
19 19
H18
20 20 19 +1,110,355)
H14.41 ) H1451 )
20
456
171 23 3 50
50 (2,350 60
3,025




(A) 27,707 24,443 25,444
3,928 4,145 4,147
9,380 9,535 9,460
4,364 3,887 3,954
7,028 6,686 7,796
6,068 6,276 7,386
(B) 20,220 20,802 22,789
11,226 11,806 16,610
11,226 11,806 16,610
4,375 5,822 6,003
8,993 8,996 6,179
2,707 1,874 1,396
3,412 3,561 3475
(C)=(A)-(B) 7,487 3,641 2,655
(D)
(E) 649
(F)=(D)-(E) 649 0 0
(G)=(C)+(F) 6,838 3,641 2,655
(H) 7,850 14,688 18,329
(N=(G)+(H) 14,688 18,329 20,984
) 0 0 0
(K) 342,960 342,960 342,960
(L)=(I)+(K) 342,960 342,960 342,960
(M)=(G)+(J) 6,838 3,641 2,655
(N) 350,810 357,648 361,289
(O)=(M)+(N) 357,648 361,289 363,944
1,816 1,611 502
1,816 1,611 502
357,105 360,849 364,487
345,960 345,960 345,960
325,292 325422 325,128
11,047 14,827 18,488
579 685 794
98 62 39
358,921 362,460 364,989
694 486 251
254 286 220
579 685 794
579 685 794
1,273 1,171 1,045
342,960 342,960 342,960
342,960 342,960 342,960
0 0 0
14,688 18,329 20,984
3,000 3,000 3,000
1,000 12,742 17,694
357,648 361,289 363,944
358,921 362,460 364,989




